L VCE & PDF https://lwww.geekcert.com/1z0-815.html
' 2024 Latest geekcert 120-815 PDF and VCE dumps Download
: GeekCert.com

170-8159%As

Java SE 11 Programmer |

Pass Oracle 1Z0-815 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-815.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-815 Dumps | 1Z20-815 VCE Dumps | 1Z0-815 Study Guide 1/5


https://www.geekcert.com/1z0-815.html
https://www.geekcert.com/1z0-815.html
https://www.geekcert.com/1z0-815.html

VCE & PDF https://lwww.geekcert.com/1z0-815.html
2024 Latest geekcert 120-815 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Given: What is the output?

public class Test{

private int num = 1;
private int div = 0;

public wvoid divide() {
try {
num = num / div;
System.out.print ("Exception");
}
catch(ArithmeticException ae) { num = 100; }
catch (Exception e) { num = 200; }
finally { num = 300; )}
System.out.print (num) ;

}

public static void main(String args[])

{
Test test = new Test():
test.divide() ;

}

A. 300
B. Exception
C. 200
D. 100

Correct Answer: A

QUESTION 2

Given:
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void myLambda () {
int 1 = 25;
Supplier<Integer> foo = () -> 1i;
i++;
System.out.println(foo.get());

Which is true?

A. The code compiles but does not print any result.
B. The code prints 25.

C. The code does not compile.

D. The code throws an exception at runtime.

Correct Answer: C

QUESTION 3

Which is the correct order of possible statements in the structure of a Java class file?
A. class, package, import

B. package, import, class

C. import, package, class

D. package, class, import

E. import, class, package

Correct Answer: D

Reference: https://www.studytonight.com/java/package-in-java.php

QUESTION 4

Analyze the code:
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public class Test {
static String prefix = "Global:";
private String name = "namescope";
public static String getName () {
return new Test () .name;

}
public static void main(String[] args) {
Test t = new Test():;
System.out.println(/* Insert code here */);

Which two options can you insert inside println method to produce Global:namescope? (Choose two.)
A. Test.prefix+Test.name

B. new Test().prefix+new Test().name

C. Test.prefix+Test.getName()

D. Test.getName+prefix

E. prefix+Test.name

F. prefix+name

Correct Answer: BC

QUESTION 5

Given:

Latest 120-815 Dumps | 120-815 VCE Dumps | 1Z0-815 Study Guide 4/5


https://www.geekcert.com/1z0-815.html
https://www.geekcert.com/1z0-815.html
https://www.geekcert.com/1z0-815.html

VCE & PDF https://lwww.geekcert.com/1z0-815.html
2024 Latest geekcert 120-815 PDF and VCE dumps Download

GeekCert.com

for(var 1 = 0; 1 < 10; 1i++) {
switch (1%5) {
case 2:

it+s
break;
case 1:
case 4:
i++;
continue;
default:
break;
}

System.out.print(i + " ");
it++;

}

What is the result?

A. nothing

B.0

C.10

D.049

Correct Answer: A
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